: Chapter -2:
Cost terms, Concepts and Classifications
ods, In the

01. Concepts and Classification;
involved in the purchase or the manufacture of go
ts of direct materials, direct labor and

A product cost is any cost |
in the case of manufactured goods, this costs consis
is a cost that is taken directly to the income

manufactured overhead. A period cost
statement as an expense in the period in which it is incurred.

02. Since product cost follow units of product into inventory, they are sometimes called
inventoriable cost, the flow is from direct materials, direct labor and manufacturing
overhead into work in process. As goods are completed, their cost is removed from work
finished goods. As goods are sold, their cost is removed

in process and transferred into
from finished goods and transferred into cost of goods sold in an expense on the income

statement.

{ that varies, in, total. In direct production to change in the
tant per unit of product. A fixed cost is a fixed

03. A variable cost is a c0s
t basis with changes in the level of activity.

level of activity. A variable cost is a cons
in total, but will vary inversely on a per uni
volved. the cost of a unit of product will depend on the
factured. As production increases, the cost per unit will fall
ore units. Conversely, as production declines, the cost
fixed cost figure will be spread over fewer units.

04. When fixed costs are in
number of units being manu

as the fixed cost is spread over m

per unit will rise, since a constant

iffers between alternatives in a decision. An

fit that is given up when one alternative is selected

05. A differential cost is a cost that d
and cannot be altered

opportunity cost is the potential bene
over another. A sunk cost is a cost that has already been incurred
by any decision taken'now or in the future.

can be either variable or fixed. For example, the alternatives might
chine rather than another in order to make a product, The

06. Differential costs
f purghasing the two machines would be a differential cost.

consist of purchasing one ma
difference in the fixed costs 0

07. Exercise-2.9
rgue that the cost of

ely debate .for example, some may a
ble cost since the number of people who come 1o the
re is .However. one can argue that if the price

Il be sold out and the function of
over, while advertising

A few of these costs may generate liv
advertising a Madonna rock concert is a varia

rock concert depends upon how much advertising the
k concert in New York City wi

is within reason. any Madonna roc
advertising is simply to let people know the event will be happening. More
may affect the number of persons who ultimately buy tickets, the advertising costs don’t go up.

Cost behavior
Variable  Fixed

1. X-ray film used in the radiology lab at Virginia
X

Mason Hospital in Seattle .......... s saa o
2. The cost of advertising a Madonna rock
1/2/2004
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09. Problem-2-14
. Sunk

variable Fixed Product cost Period
Direct Direct Mfg, (selling& cost <cost
O/H adm.cost)

Name of the Cost
Cost Cost
mat. labor

Rental revenue
Foregone,$30,000

er year
X

Direct materials cost,
M
X

Rental cost ©
Warehouse , $500
Per month X

Rental cost of
Equipment, $
4000 per month
Direct labor cost ,
X

$60 per unit _
X

Depreciation of
annex space ,
$8000 peryear X
Advertising cost ,
$50000 per year X
Supervisors salary,
$1500 per month
Electricity for
machines,$120
per unit X X
Shipping cost ,
. 4 X

$9 per unit
Return earncd on
X

investment , $3000
—peryear_

X

X

Page 9 1/2/2004






~Raw Materials available o
ntory (Closing) ==

[Less Raw Materials inve
Raw Materials used or consumed
O Libsiaiat s~
Manufacturing

Rent on facilities

Insurance

Utilities cost
Indirect Labor
Dcpreciation (Fa
Maintenance (Factory)
Others if any -=====7"""
Total Maintenance Costs
Add Work in Process (Opening)
Less Work in Process (Closing)-========="""

Cost of Goods Manufactured

............

......................

---------------------------

----------------------
---------

.........

......................

---------------

Format of Income Statement

Particulars

-----------------------------------------------

Sales
Less Cost of Goods sold:
Finished Goods Inventory (Opening)----==

Add Cost of Goods Manufactured----===-=-"

Goods Available for Sale
Less Finished Goods Inventor

Gross Margin

Less Operating Expenses (Office & Admin &

selling & Distribution EXp.): '
Selling & Administrative Expenses
RentoniBacilitics —====== === ===t
[NSULINCE Srame=—ntee o= csocesss Sesiisiinnis
Depreciation (Sales Equipment)

Utilities Costs -——ee SiEX

-------------------------------------

Advertising
Others if ARy ~moer———— —meesmozomeen s

[ Net Operating Income (N.O.I)

Problem 2.20 (P.-82)

_____________________

Skyler Company -
Schedule of Cost of Goods Manufacturer for the month ended Jure
Particulars = $ | S
Materials: | B
Raw Materials Inventory @une-01)z---=—- 17,000/=
Add Purchase of Raw Materials------------ 1,90,000/=

Page 11 1/22€04



S R W M Ao i
R Lews Raaxfir\:laelfea“‘lab'léi-:‘.‘.‘:_':;;:.::-'.;-;.':‘ —2,07,000/=|
aw Materials rials Inventory (June-30) - 42,000/= -
Direct Lnbm____“"‘-‘ﬂ OF CONSUMEd--mammmmmmns T RSO0
L e e T W 90,000/=
Rent on faci% Overhead:
Insurance (7;;:)5_(30%) --------------------- 32,000/=
Utllitles sost (008%) v Ralopeiiiis o) 6,000/=
Indirect | A Y 45,000/=
Abor «--- ye
DA et ot i i 1.08.000/=
Mai ion (Factory Equipment) =======~ 12,000/=
Tot Ia'nle.nan(;c (Facwry) ----------------------- 7,000{1 2 10‘000;__.
AddawMa".'tenn nce Costs ) 4,65,000/=
ork in Process (June-01) ==========="""" 70,000/=
8 X 5,35,000/=
Cess Work in Process (June-30)-=========7""" 85,000/=
ost of Goods Manufactured 4,50.000/=
]ncom_e_s_t_g_!_e______nmlfﬁ)r the month ended June
[ Particulars $ o8
Salos Cie B it e AV 6.00,000/=
Less Cost of Goods sold:
Finished Goods Inventory (June — 01)-===== 20,000/=
Add Cost of Goods Manufactured-----===-- 4,50,000/=
Goods Available for Sale--=-===---==========- 4,70,000/=
Less Finished Goods Inventory (June —30) 60,000/= 4,10,000/=
Gross Margin 1,90,000/=
Less Operating Expenses:
Selling & Administrative Expenses ======= 35,000/=
Rent on Facilities (20%0) =87 o = i 8,000/=
Insurance (25%) ----=-=—=~="""T" T 2,000/=
Depreciation (Sales Equipment) ----==-=-""" 10,000/=
Utilities Costs (10%0) === == = & 5,000/=
Advertising -------=-=-zz-szmzoTtTTiTIIII T 80,000f= 1 ,40,000/=
come ( \ | 50,000/=

LNet Operating Income (N.O.D)
Cost Behaviors: Analysis and Use

01, Concepts;

Cost behavi
business activity.

or refers to how a cost will react or respond to changes in the level of

[ Cost Behavior Scenario I
Page 12 1/2/2004



Fypeofcost — [ Totwnl costs_ e e LT unit €€ cost_
Fixed costs e z rvin changé l')eucmc of ""““.32—--————""
Variable costs = " Increase 7 ‘Decrense_ “No change

cost is NG thal FEMAINS CONstAnt on & per unit basis, but which

a) Variable cost ; A variable
n to change in volume.

changes in total indlmt rolatio
one that remains constant in total amount, but which changes. if

b) Fixed cost; A Fixed cost is
inversely with changes in volume .

expressed on a per unit basis, in

._—) Mixed cost; A mixed cost is n cost that contains both variable and fixed costs elements.

Um:ler 1his method the variable cost element is found out from the mixed cost by

npplwng the followmg The varinble rate formula goes as follows:
Variable rate=Change in cost = Change in units
After finding out variable cost. fixed cost can be found out by deducting variable cost from total

mixed cost

Exercise 5-5:
Requirement O1.

Units Produced and sold
$60,000 $80,000 |  $100,000
Variable costs 150000 200000 | 250000
Fixed costs 360000 360000 — [ 360000
Total cost 510000 560000 '[ 610000
Cost per unit: ﬁ
Variable cost 2.50 2.50 | 2.50 i
J Fixed cost . 6.00 4.50 | 3.60
| Total cost per unit 8.50 7.00 [6.10

Requirement-02

Income statement for 9000 units
Sales revenue (90001@7.5)

Less: Variable cost (9000@2 50):

Contribution Margi
Less: Fixed Costs
Net Income | 90000

Exercise 5-11

1. Identification of Company’s expenses

Costs of goods sold ... e s T Variable
Advertising eXpenses ....c..xrrttttt Fixed
... Mixed

Shipping EXPENSEs ....coeexstereerssriss
Salaries and COMMIISSION ovveerseneresersee Mixed

[NSUrance eXpenses. ....oxxxxxxwee""" . rixed
Depreciation eXPenSes.....ooooxserrerstt it Fixed

Page 13 1/2/2004




Hi Shipping Exp Salary etc
Lc;%:' Ilevcl of Activity
evel of Activity 4500 56,000 143,000
Change 3000 44,000 107,000
500 12000 36000
A Valuab{:: Cost Elemeny
arj
l. Shi lﬂl_)le rate=Change in cost + Change in units
2. algr';":ag Expense: 12000 + 1500-$8
o) Xpense: -
B. Fixed Cog¢ Elcmpcm; 36000 + 1500~ $24

Shipping \ Salary |
Cost : Expense Expense
of High level 56000 | 143000
less; VC 1
4500 units @ $8 36000 1
4500 units @ $24 | 108000 1
LS 20000 | 35000 y

C. Cost formula:

Shipping Expense: $ 20000 plus $8 per unit or
Y=520000 + 8X

Salary Etc: $ 35000 plus $24 per unit or
Y=835000 + 24X

Frankel Ltd

Inco
Sales in unit
Sales revenue
Less: Variable costs:

Cost of goods sold :2;2%(;(())0
S 108000
Salary etc '
Contribution Margin
Less: Fixed costs:
Advertising ;gggg
silinll 35000
Salary etc <060
Insurance
Depreciation 42000
i Net Income
2. Problem; 5-15
1. Costs of goods sold ..........-e-- e SR V?:rit_::;e
Advertising exXpenses .......... e s ety
Shipping exXpenses .........-- aeevas A

me Statement for the month ended June

4500
$ 630000

386000 Z767
234000

1/2/2004



Salaries and commission ....
INSUrANCE EXPENSES. ... coorervisraasarrnrarss

Depreciation expenses...

A$90000
18000

2. Analysis of the mixed expenses;
Unites Salary
ceurav e 3000

Shipping Expenses
AS$3IB000
.‘]:.‘,.O\QO-
AS 4000 A

High level of activity
Low level of activity

CHBNGE +<ccvvesisassasnrsssesranininse

A. Variable cost element:
\Variable rate= Change in cost

Change in activity

. Shipping expenses; A$4000

1000units
nit.

=A%$4 per unit
2. Salaries and comm. expense;= A$12000
1000units

=A$12 per unit.

Shipping Expenses Salary and Com.Expenses
A$90000

B.Fixed cost element;
A$38000

Cost of high level of activity...

Less variable cost element;
5000 units x A%4 ...
5000 units x A$12

Fixed cost element .......c...0ee

60000

A$30000

20000

A$18000

C.The cost formulas are;
Shipping expense; A$ 18000 per month plus $ 4 per unit or

Y= A$18000+A$4X
AS$30000 per month plus A$12 per unit or

Y= A$30000+A8$12X

Salary and Com.Expenses;

Morrisey &Brown, Ltd.
Income statement
For the month ended September 30

..............................

Sales in units

Sales revenue (@AS$100)

Less variable expenses;
Cost of goods sold (@A$60)

Shipping expenses (@AS$4)

Salary and Com.Expenses (@AS$12)
CORtribUtion MArgin ...cooovesseeemsssasenssuasenses
Less fixed expenses,

" AdVErtiSing EXPENSES ...vvvvessssnrnreeesemsrneese

Shipping expense ...... e e RS e e
Salary and COM.EXPENSEs ........oooereeommerreneeees

.........................

---------------

enses

5000
A$500000

A$300000

20000

60000 380000

120000

21000
18000
30000

1/2/2004



Insurance expenscs e
T oy e | 6000
90000

Depreciation expense
Net income 5t ..FT'_»,MM 15000
.................................... TR A$30000
03 Problem;
- Maintenance '
cost at the 90000 machine-hour level of activity can be isolated as follows:
Level of activit
Total factor ul 60000M 90000MH
Deiice: ory overhead cost ...............ee. 174000 $246000
L\.'ll“[iu.’\ Cost f{}]&(’]g“;Ml 1* 48000) (7200(})
Supervisory salaries  .......oocoeoeiienn (21000) (21000)
METVENANCE COEE. o i ddar $105000 $153000
*$48000/60000MH=$0.80/MH
2. High-low analysis of maintenance cost: e | o dhine cost
achine hours a 1
High activity level — ooiceameninnsee 90000 $i 53%%(2]
Low activity level —  coioaacanenniies 60000_ .;-J'L)_S_T]-
Clianper S e, i, N ATUREN 30000 $48000
Variable rate: Change in activity
= 48000
30000MH
= $1.60/MH
Total fixed cost:
Total fixea costy .
Total maintenance cost at the high activity levell f desiaa $l_53000
Less variable cost element (90000MHx$ | GO R B%%JB%QO

for maintenance is; $9000 per month plus $1.60 per machine-hour

Therefore. the cost formula

or
Y=$9000+$1.60X
3 Variable Rate per Fixed
Machine-Hour Cost
Maintenance COSt .....oovueoneesese $1.60 $9000
Utilities cost - it nail SEmsre s 0.80
Supervisory salaries cOSt ........- 21000
Total $2.40 $30000

Thus. the cost formula would be; Y=$30000+5$2.40X.

evel of 75000 machine-hours:

4 Total overhead cost at an activity |
BIXEAICOSIS] ki w it Hk v e o st i o _ $30000
Variable costs ($2.40 x75000MH) ..............ccoer 180000
$210000

........................................

Total overhead costs
1/2/2004



